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One who sells a note of debt to  — %172 1212 2T 19920 297 W IDMT
his friend and goes back and forgives it, it is forgiven

Overview

R1W ruled that if a lender sold his note of debt (where someone else owes him
money) to his friend, and the M%» went ahead and forgave the m> the loan, the rule
is that the loan is forgiven and the buyer cannot collect from the m>.! Our MmooIN
offers (some) explanation for this (seemingly) astounding ruling.
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Others explain that this is the reason why if the m%» forgave the m?, the loan is

forgiven, because the acquisition of a note is only valid 31397%, however Xn»x
one cannot sell a note -
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So therefore the sale is not powerful enough to revoke the power of the first one

(the seller; the original m%n), so that he should not be able to forgive the m> -
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And it also seems so in n»w S» P99 that acquiring NV is only 12977,

Summary
MY N7 is only 132777, therefore the 7191 retains the right to be 2ma the .

Thinking it over
If n"vw n7°2n 1s only 1312777 (and presumably also giving it as a gift or for Pw17°p 702

is also 712771n), is this woman (who received the n"vw for 1"W17°P), n'"n DWTIPA or
only 131277172’

! There is discussion elsewhere (721277 7"70 2,7 2"2) what recourse the buyer has against the 7192 (the seller of the
n"ow.

2 7707 2 only something of substance (whether it is 72002 or ¥27p) can be sold. By a n"vw non there is nothing of
substance being transferred (merely an obligation). Therefore n"nn the M% owes the money to the mM>», but not to the
buyer.

3 The 1121 could enact that this loan may be collected only by the buyer but not by the m»; however they (seemingly)
cannot change the fact that the 7% owes money to the m>n, therefore the Mm% can void this obligation.

4 31m1 27 MK X237 said that a ¥yIn 225w nann is P only 132777, The X3 there asked, 1M1 27 said that this ruling of PXmw
(9 Yomm 1 11°an? n"'uw 131n7) does not apply to a »"'2w ninn (there is no 72°nn), but if a n"ow nann is only 132777,
why is any different from a regular 77°5n, where he can be 2min? It is apparent that the X3 there assumes that n°on
n"vw is only 732777,

5 See MmN w9 X # 165-7.
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